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Answer Question No.1 (Part-1) which is compulsory, any EIGHT from Part-ll and any TWO
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from Part-lil.
The figures in the right hand margin indicate marks.

Part-l
Only Short Answer Type Questions (Answer All-10)
What is the practical significance of general solution and particular solution of a
differential equation?
What do you mean by integrating factor? How it helps to solve differential equations?
Find the parallel asymptotes of y*x — a®(x-a)=0
What is the relation between curvature and radius of curvature of the curve?
What is the Wronskian? What role does it play in getting solution of a differential
equation.
Write the Generating function of Legendre'sPolynomial
Prove that BUm.n)=p(n,m)
What does the convergence of a power series means? Why is it important?
Write down Second sifting theorem for Laplace transfoorm and inverse Laplace
transform with examples.
State convolution theorem.

Part-ll
Only Focused-Short Answer Type Questions- (Answer Any Eight out of Twelve)
Show that the eight points of intersection of the curve
xy(x* —y*) + x* + y* = a®. and its asymptotes lie on a circle whose center is at the
origin
Solve the following differential equation
(2x + 3)%y" - (2x + 3)y'— 12y = 6x, wherey' =2,
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s 1 : :

Prove that L'[—4——4] = — (coshat sinat + sinhat cosat)
A sig 2a :

Find the Laplace Transform of , “)' . { Vel gt ]
t

. Express /> (x) in terms of sine and cosine functions.

2
Solve the differential equation: (D? + 6D + 8)y = e~ 2* sin 2x
Solve the differential equation :_: + x sin2y = x3cos2y

. Solve: (x*y —2xy*)dx — (x* — 3x*y)dy = 0

Solve the equation (1-x?) %—x :—;’ +4y =0, by bower series meiﬁbd
Prove that the center of curvature at points of a cycloid lie on an equal cycloid

(2 x 10)

(6 x 8)






